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Probability & Statistics
Chapter 8 Test Review
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1. Use z-test for the mean

The mean grade point average for one college is 2.45, with a standard deviation of
69. An engineering professor believes that engineering majors have a higher grade
point average than the college’s mean. A sample of 20 engineering majors had a
mean grade point average of 2.65. Test the professor's claim at the .01 level of

significance.
M= (A Of enameeriry Stuckents Since P2, we
Ho! AL Z Q.45 z= %";: £auil o reject Ho.
. we dont have
Hat M7 345 = 65 L ough evidence to
Rignt tailed 2 fest x= ) YTe conchele Hhot
O - 1LR% gmmees howe
> hiﬁher GPAS.
CENELT P =. 0908

2. Use z-test for the mean

Last year, a grocery store had a mean of $1850 with a standard deviation of $150 in
daily sales. This month, a new advertising approach was used. The store manager
wants to know if the new advertising had any effect on the daily sales. If this month

sales had a mean of $1780 for 22 days, did the new advertising affect the daily sales
at the .05 level?
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3. Find the confidence Interval for #1. o ,
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5. Use t test for the mean

A consumer tested 18 bottles of a soft drink and found a sample mean of 15.8
ounces, with a standard deviation of .4 ounces. If the bottles are supposed to
contain 16 ounces, is the consumer being cheated?
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6. use t test for the mean

A professor claims that the average on the first test n a statistics course is about 73.
At the .01 level, test her statement. The following grades were recorded for the first

test.
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O 7. Z test for proportions
A college professor feels that females are doing better in a certain math class than
the population. The college has a 52% passing rate in that particular course. If 16
out of 27 females pass the test, is the proportion of females that passed higher than
the proportion of the population that passed? Test at the .01 level.
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8. Single variance
A manufacturer wants to know if the variance of the size of the diameter of a nut is

equal to 12. A sample of 17 nuts had a variance of 10.6. Test if the variance is 12 at
the .01 level.
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9. Single variance

A teacher claims that the variance on a certain test is less than 68. A sample of 58
students had a standard deviation of 5.8. Test the teacher’s claim at the .01 level.
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